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Voting and results for the draft enforcement regulations in 2018

Passage
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Distributed the first draft in 2018.03.25, distributed the final revised draft until 04.15
after holding the period of opinion collection, closed voting at 05.27 as unsigned votes
and calculated. Among 12 voters, nine ballot papers were submitted.

B HREE Calculation and determination method
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The voter has a ballot holding point of 6 points per each draft, and the total sum of the
points of the voter (hot the electorate #1) for each draft would be called “a point”, the
total sum of executed points would be called “b point“and score rating would be called “r
point”, and let the calculation formula be “r (%) =b / a * 100”. When r exceeds 50 (%),
the draft is adopted according to majority ruIe, and when it is less than 50 (%) it shall
be rejected.

In addition, as for the alternative draft skmarked, one side that score more points and a
majority score, those are regarded as the pass requirement, and if it is not less on
either requirement, it is regarded as a void refusal draft.
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Initially, abstention and non-submission were announced that they should be handled as a perfect
vote, but in view of the principle of majority voting and the probability of statistical theory
the following measures were appropriately handled as appropriate.
o BRERMBADREEMNEBVERIEK. $RXTOBREICODVTHBARNLBRNT HE LT,
In the absence of submission of the ballot sheet itself, we decided to exclude thier points from
the denominator “a point” on all drafts
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Even if the ballot sheet itself were submitted, when the voting points for any draft were not
filled, with regard to that draft, points were excluded from the denominator “a point”
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For the sake of convenience of processing, the upper right corner of the ballot sheets uploaded to
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official website were wrttien the “symbols A to I”, and the integration formula for each draft in
the following spreadsheet is in the order of “A to I”
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b=6+4+4+6+6+6+6+4+6=48 a=54
b=6+4+2+6+6+6+6+3+6=45 a=b4
b=6+3+2+6+4+6+6+4+6=43 a=54
b=6+5+1+6+4+6+6+4+6=44 a=54
b=6+4+2+6+6+6+6+6+6=48 a=54
A Person
P-1
P-2
P-3
P-4
*P-5  b=6+4+6+6+6+3+4+6=41
*P-6 b=6+4+3+5+6+6+3+1=34
P-7
P-8
P-9
P-10
P-11  b=6+3+4+6+4+6+6+6=41
P-12
P-13
P-15
P-16  b=6+4+2+6+6+6+6+6=42
P-17
P-18
P-19  b=6+3+3+4+5+6+6+6=39
P-20  b=6+4+5+6+6+6+6+6=45
P-21  b=6+1+1+3+4+6+5+6=32
P-22
P-23
P-24  b=6+1+1+6+4+6+4+6=34
P-25
¥ (5T
T-1
T-2
T-3
T-4
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r=48/54x100=88. 88%
r=45/54%100=83. 33%
r=43/54x100=79. 62%
r=44/54x100=81. 48%
r=48/54x100=88. 88%

b=6+3+4+6+6+6+6+6+6=49
b=6+3+3+6+6+6+6+6+6=48
b=6+3+4+6+6+6+6+6+6=49
b=6+4+3+6+6+6+6+6+6=49

b=6+3+4+5+5+6+6+4+6=45
b=6+4+4+6+6+6+6+4+6=48
b=6+4+4+6+6+6+6+4+6=48
b=6+2+1+5+6+6+3+3+6=38

b=6+3+3+6+4+6+6+4+6=44
b=6+3+4+6+4+6+6+1+6=42
b=6+4+4+6+5+6+6+1+6=44

b=6+3+3+6+4+6+6+1+6=41
b=6+4+4+6+4+6+6+4+6=46

b=6+1+5+6+6+6+6+4+6=46
b=6+4+5+6+5+6+6+4+6=48

b=6+4+4+6+6+6+6+3+6=47

Things

b=6+4+5+6+6+6+6+4+6=49
b=6+3+5+6+6+6+6+4+6=48
b=6+5+6+6+5+6+6+4+6=50
b=6+4+1+6+6+6+6+6=41
b=6+1+6+6+6+3+6=34
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a=b4  r=49/54%100=90. 74% Tk
a=b4  r=48/54%100=88. 88% Ik
a=b4  r=49/54%100=90. 74% Tk
a=b4  r=49/54%100=90. 74% Tk
a=48  r=41/48%100=85. 41% T3k
a=48  r=34/48%100=70. 83% Zik
a=b4  r=45/54+100=83. 33% Tk
a=b4  r=48/54%100=88. 88% Tk
a=b4  r=48/54+100=88. 88% Tk
a=b4  r=38/54%100=70. 37% ik
a=48  r=41/48%100=85. 41% Tk
a=b4  r=44/54%100=81. 48% Tk
a=b4  r=42/54%100=77. 77% Tk
a=b4  r=44/54%100=81. 48% Tk
a=48  r=42/48+100=87. 50% Tk
a=b4  r=41/54%100=75.92% ik
a=b4  r=46/54+100=85. 18% Tk
a=48 r=39/48%100=81.25% Tk
a=48  r=45/48%100=93. 75% Tk
a=48  r=32/48%100=66. 66% Ik
a=b4  r=46/54+100=85. 18% Tk
a=b4  r=48/54%100=88. 88% Tk
a=48  r=34/48+100=70. 83% Tk
a=b4  r=47/54%100=87.03% ik
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b=6+6+6+6+6+6+6+4+6=52
b=6+6+6+6+6+6+6+4+6=52
b=6+6+6+6+6+6+6+4+6=52
M-4  b=6+6+6+6+6+6+6+4+6=52
M-5  b=6+6+6+6+2+6+6+6=44
*M-6 b=6+6+5+6+1+6+6+6=42
*M-7 b=6+1+5+4+1+1=18

M-8  b=6+6+5+6+6+6+6+4+6=51
M-9  b=6+4+6+6+6+6+1+6=41

r=49/54%100=90. 74%
r=48/54x100=88. 88%
r=50/54%100=92. 59%
r=41/48x100=85. 41%
r=34,/42%100=80. 95%
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a=48
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r=52/54%100=96
r=52/54%100=96
r=52/54%100=96
r=52/54%100=96
r=44/48%100=91.
r=42/48%100=87
r=18/36%x100=50
r=51,/54%100=94
r=41/48%100=85
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